
§·¤æ§ü / Unit-I

1. çÙ`Ù â×¢·¤ô´ âð Õæª¤Üð ·¤æ çßá×Ìæ »é‡ææ¢·¤ ™ææÌ
·¤èçÁ° Ñ

¥¢·¤ z-vz vz-wz wz-xz xz-yz yz-zz zz-{z

¥æßëçîæ z vz xz zz wz vz

DD-216
M.A. 1st Semester

ATKT Examination, March-April 2021

ECONOMICS

Paper - III

Quantitative Methods

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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Find out Bowley’s coefficient of skewness
from the following data :

Marks 5-15 15-25 25-35 35-45 45-55 55-65

Frequency 5 15 35 55 25 15

¥Íßæ / OR

çÙ`Ù ¥æ¢·¤Ç¸Uô´ âð ·¤æÜü çÂØâüÙ ·¤æ âãUâ`Õ‹Ï
»é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

ÂçÌ ·¤è ¥æØé
  (ßáü ×ð´) wx w| w} w} w~ x® xv xx xz x{

ÂˆÙè ·¤è ¥æØé
  (ßáü ×ð´) v} w® ww w| wv w~ w| w~ w} w~

Calculate Karl Pearson’s coefficient of
correlation from the following data :

Age of Husband
     (in years) 23 27 28 28 29 30 31 33 35 36

Age of Wife
   (in years) 18 20 22 27 21 29 27 29 28 29

§·¤æ§ü / Unit-II

2. °·¤ ·¤`ÂÙè ·¤è ßæçáü·¤ çÕ·ý¤è Ùè¿ð Îè »§ü ãñUÐ
ßáü v~~y ·ð¤ çÜ° çÕ·ý¤è ·¤æ ¥Ùé×æÙ Ü»æ§°Ð

ßáü v~~w v~~x v~~y v~~z

çÕ·ý¤è (G Üæ¹ ×ð´) wx.y wy.w ? w}.x

( 2 )

DRG_142_(7) (Continued)

htt
ps:

//u
niv

ers
ity

ne
ws.in

https://universitynews.in/

https://universitynews.in/



( 3 )

The annual sales of a company are given
below. Estimate the Sales for the year 1994.

Year 1992 1993 1994 1995
Sales (in G Lakh) 23.4 24.2 ? 28.3

¥Íßæ / OR

°·¤ ¥ŠØØÙ âð çÙ`Ùæ¢ç·¤Ì ÂçÚU‡ææ× ÂýæŒÌ ãéU° Ñ

Ÿæð‡æè X Ÿæð‡æè Y

â×æ‹ÌÚU ×æŠØ w.y{x w.|~|

Âý×æÂ çß¿ÜÙ ®.xw{ ®.w®|

X ¥õÚU Y ·ð¤ Õè¿ r = + ®.||y

™ææÌ ·¤èçÁ° Ñ

(i) ÎôÙô ÂýÌèÂ»×Ù â×è·¤ÚU‡æ

(ii) X ·¤æ ¥Ùé×æçÙÌ ×êËØ ØçÎ Y = w.xxy ãUôÐ

(iii) Y ·¤æ ¥Ùé×æçÙÌ ×êËØ ØçÎ X = x.®zw ãUôÐ

A study revealed the following results :
Series X Series Y

Arithmetic Mean 2.463 2.797
Standard Deviation 0.326 0.207

r between X and Y = + 0.774
Find Out :
(i) Two regression equations
(ii) The estimated value of X when Y = 2.334
(iii) The estimated value of Y when X = 3.052
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( 4 )

§·¤æ§ü / Unit-III

3. çÙ`Ù âæ×»ýè z®® ÃØç@ÌØô´ ×ð´ âæÿæÚUÌæ ÌÍæ
ÕðÚUôÁ»æÚUè âð â`Õç‹ÏÌ ãñ´ UÐ §ââð ¥æÂ âæÿæÚUÌæ
ÌÍæ ÕðÚUôÁ»æÚUè ×ð´ ØêÜ ·¤æ »é‡æ-â`Õ‹Ï »é‡ææ¢·¤
™ææÌ ·¤èçÁ° ÌÍæ ©Uââð çÙc·¤áü çÙ·¤æçÜ° Ñ

çÙÚUÿæÚU ÕðÚUôÁ»æÚU ww®

âæÿæÚU ÚUôÁ»æÚU ÂýæŒÌ w®

çÙÚUÿæÚU ÚUôÁ»æÚU ÂýæŒÌ v}®

The following data relate to literacy and
unemployment in a group of 500 persons. You
are required to calculate Yule’s coefficient of
association between literacy and
unemployment. Interpret it :

Illiterate unemployment 220

Literate employed 20

Illiterate employed 180

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂýàÙô´ ·¤ô ãUÜ ·¤èçÁ° Ñ

(a) ØçÎ Ìæàæ ·¤è »aïUè ×ð´ âð °·¤ Âîææ ØæÎëç‘ÀU·¤
M¤Â âð çÙ·¤æÜæ ÁæÌæ ãñU, Ìô @Øæ ÂýæçØ·¤Ìæ ãñU
ç·¤ ßãU Òç¿Ç¸Uè ·¤è Õð»×Ó Øæ Ò§üÅU ·¤æ
ÕæÎàææãUÓ ãUô»æ?
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(b) °·¤ ÍñÜð ×ð´ } âÈð¤Î, { ·¤æÜè, y ãUÚUè ¥õÚU
w ÂèÜè »ð´Îð´ ãñ´ UÐ °·¤ ÂÚUèÿæ‡æ ×ð´ °·¤ ·¤æÜè
Øæ °·¤ ãUÚUè Øæ °·¤ ÂèÜè »ð´Î ·ð¤ çÙ·¤ÜÙð
·¤è @Øæ â`ÖæßÙæ ãñU?

Solve the following problems :

(a) If a card is drawn at random from a pack
of cards, what is the probability that it
will a ‘Queen of Clubs’ or a ‘King of
Diamonds’ ?

(b) A bag contains 8 white, 6 black, 4
green and 2 yellow balls. What is the
probability of drawing one black or one
green or one yellow ball in a single
trial ?

§·¤æ§ü / Unit-IV

4. çÙ`ÙçÜç¹Ì ¥æ¢·¤Ç¸Uô´ âð çÈ¤àæÚU ·¤æ ·¤è×Ì âê¿·¤æ¢·¤
ÂçÚU·¤çÜÌ ·¤èçÁ° Ñ

¥æÏæÚU ßáü ßÌü×æÙ ßáü
ßSÌé

·¤è×Ì ×æ˜ææ ·¤è×Ì ×æ˜ææ

A xw z® x® z®

B x® xz wz y®

C v{ zz v} z®

( 5 )
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Calculate Fisher’s price index from the
following data :

Base Year Current Year
Commodity

Price Quantity Price Quantity

A 32 50 30 50

B 30 35 25 40

C 16 55 18 50

¥Íßæ / OR

·¤æÜ Ÿæð‡æè @Øæ ãUôÌè ãñU? °·¤ ·¤æÜ Ÿæð‡æè ·ð¤

çßçÖ‹Ù â¢ƒæÅU·¤ô´ ·¤ô â¢çÿæŒÌ ×ð´ â×Ûææ§°Ð

What is a Time Series ? Explain briefly the
different components of a time series.

§·¤æ§ü / Unit-V

5. È¤ÜÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? È¤ÜÙ ·ð¤ çßçÖ‹Ù

Âý·¤æÚUô´ ·¤è ÃØæBØæ ·¤èçÁ°Ð

What do you understand by function ? Discuss
the various types of function.

¥Íßæ / OR

( 6 )
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ØçÎ ç·¤âè ©UˆÂæÎ·¤ È¤×ü ×ð´ ·é¤Ü Üæ»Ì È¤ÜÙ
çÙ`ÙæÙéâæÚU ãñU Ñ

TC = 0.003 q3 – 0.05 q2 + 7q + 10000

Ìô ™ææÌ ·¤èçÁ° Ñ

(i) ßSÌé ·¤è v®® §·¤æ§ü ·ð¤ ©UˆÂæÎÙ ·¤è ·é¤Ü
Üæ»Ì

(ii) âè×æ‹Ì Üæ»Ì

(iii) v®® §·¤æ§ü ·¤æ ©UˆÂæÎÙ ãUôÙð ÂÚU âè×æ‹Ì Üæ»Ì

If the total cost function of a producing Firm
is as follows :

TC = 0.003 q3 – 0.05 q2 + 7q + 10000

Then find out :
(i) Total cost of producing 100 units
(ii) Marginal cost
(iii) Marginal cost when 100 units are

produced
———

( 7 )

DRG_142_(7) 380

htt
ps:

//u
niv

ers
ity

ne
ws.in

https://universitynews.in/

https://universitynews.in/


